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Paths can be unfolded into a straight line 2/10

Paths can be unfolded into a straight line

...............................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
......

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
..........

...............................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
......

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
..........

...............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
.....

...............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
.....

.........

.......................
.........
.......................

A A

B B



Problem: Billiard Paths

Paths can be unfolded into a straight line 3/10

...............................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
......

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
..........

............................................................................................................................................................................................................................................................

...................................................................................................................................................................................................

...............

...............

...............

...............

...............

...............

...............

......

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
............................................................................................................................................................................................................

..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
.....

....................................

...............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
...........

.........

.......................
.........
.....................................

.........

.......

A A A

B B



Problem: Billiard Paths

Paths can be unfolded into a straight line 4/10

...............................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
......

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
..........

............................................................................................................................................................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
.....................................................................................................................................

................

...............

...............

...............

...............

...............

...............

...............

......

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
............................................................................................................................................................................................................

..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
.....

....................................

.....................................................

...............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
.......

.........

.......................
.........
.....................................

.........

.......

.........................

.......

A A A

B B



Problem: Billiard Paths

Paths can be unfolded into a straight line 5/10

...............................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
......

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
..........

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................

................

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...........

............................................................................................................................................................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
.........................................................................................................................................................................................

...............................................................................................................................

...............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
.....

....................................

.....................................................

...........
..........
..........
..........
..........
..........
..........
..........
.......

...............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
.........

.........

.......................
.........
.....................................

.........

.......

.........................

........

........

.....................

A A A

A

B B



Problem: Billiard Paths

Paths can be unfolded into a straight line 6/10

...............................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
......

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
..........

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................

................

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...........

............................................................................................................................................................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
.........................................................................................................................................................................................

............................................................................................................................................................................................................................................................

...................................................................................................................................................................................

...............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
.....

....................................

.....................................................

...........
..........
..........
..........
..........
..........
..........
..........
.......

...................................................................... ................
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
..........

.........

.......................
.........
.....................................

.........

.......

.........................

........

........

...................................
.........
.......

A A A

A

B
B

B



Problem: Billiard Paths

Paths can be unfolded into a straight line 7/10

...............................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
......

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
..........

......................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................
.....................

................

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...............

...........

............................................................................................................................................................................................................................................................................
...............
...............
...............
...............
...............
...............
...............
.........................................................................................................................................................................................

............................................................................................................................................................................................................................................................

...................................................................................................................................................................................

...............................................................................................................................

................

...............

...............

...............

...............

...............

...............

...............

......

...............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
.....

....................................

.....................................................

...........
..........
..........
..........
..........
..........
..........
..........
.......

......................................................................

......................................................................................................... ................
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...............
...........

.........

.......................
.........
.....................................

.........

.......

.........................

........

........

...................................
.........
.......

.........

.......

................

A A A

A

B
B

B



Problem: Billiard Paths

Paths with rational slopes 8/10

Paths with rational slopes

If the slope is m/n, where m and n are co-prime, then

I the path ends at vertex B if n +m is even

I the path ends at vertex C if n +m is odd
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Problem: Billiard Paths

A path will never end at vertex A 9/10

A path will never end at vertex A
It will either hit vertex C first...
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Problem: Billiard Paths

A path will never end at vertex A 10/10

A path will never end at vertex A
...or it will hit vertex B first
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